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@Sin25° @ cos0° ® cos10°®

@ tandb° ® tan60°

B

@ sin25° 2 @ cos 10°

0°<x<45° Y o, sinx < cos x
w2tA sin25° < cos 10° < 1

@ cos0° =1
@ tan45° =1
® tan60° = V3
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@ csinB+bsinC @ csinB +bcosC

@CCOSB+bCOSC @ ccosB+bsinC

® ctanB+btanC

AABH 9 A cosB = @,ﬁ =ccosB
c

AAHC oA cosC = CTH,W =bcosC

w}2}4] BC = BH + CH = ccosB + bcos C ©]t}.




M 2x-y+3 =09 T} x Zo] o] R o|Ze] 275 a 2
& o, tana o] gH2?

Vi @3 ® vz @2 ® 1

2x—y+3=0, y=2x+3

. tana =2




4. o I"HI Zo] ’EAF2] Ze]7t 10 91 ¥ O o HHsh= aABC

oAl BC =10 ¥ m, cosA x +sinA O] e Faloat.

tan A

LA = /N
A'C=v202-102 =103

1 3 1
A+sinA:\/7_>< \/§+§:2

COSA X
tan
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@ sina=0.8
@ sinb =0.5

B
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0.75

0.6

@ cosa = 0.6 ® cosb=0.9
@tana =0.75

@ sina = 0.6
@ cosa=0.8
® cosb =0.5

@ sinb = 0.9




